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Pre-Calculus Semester 1 Review
No Calculator:
1. Which of the following is in point-slope form?
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d.  None of these

2. A line has a slope that is undefined.  Which of the following best describes the slant of the line?

a.  Up to the right
b.  Down the right 
       c.  Horizontal 

d.  Vertical

 Simplify.  Leave your answer in standard form of a complex number.
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5.
Solve 
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6.
Write an equation in slope-intercept form of a line with slope -4 and y-intercept 5.

7.
Write an equation of a horizontal line.

8.
Write two equations of any two lines that are perpendicular to each other.

9.
Find the distance between the points.  (-2, 4) and (3,3)

10.
Find the midpoint between the points.  (7,12) and (-3, -10)

 Find an equation for the line described.  Put your answer in slope-intercept form.

11.
Passing through (-3,4) and (2,5)

12.
Parallel to 
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13.
Solve
[image: image10.wmf]2

2170

xx

++=


 CALCULATOR ALLOWED
14.
Solve for x by completing the square.  x2 + 6x = 7
15.
Solve for x.  
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16.
Solve for x by extracting square roots.  
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17.
Solve for x using a method of your choice.  
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Part I: No Calculator. Match each function to its graph.
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J.
 Graph the equations without a calculator.
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 Find a formula for f-1(x) 
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34. 
In the equation  
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 ,  the 2 represents a

A.   horizontal shift to the right
B.   vertical stretch of 2  
                   C.   horizontal shrink of 2

D.   vertical shift up 2   

35.
Which of the following represents the range of the following relation?
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D.  [-3,2]
36.
Which of the following graphs does not represent a function?
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37.
Which interval best represents where the following graph is increasing?
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38.   Which of the following graphs has an inverse that is also a function?
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39.   Use your calculator to find the local maxima of 
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40.
State the interval(s) for which the graph is decreasing.
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41.   Confirm that 
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42. Solve using the quadratic formula..   
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Solve each inequality. Put your answer in interval notation.
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45.   Graph 
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46.
State the domain of each function.

A.  
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47. Find all asymptotes of 
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 Match each equation with the correct graph.
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52.
The graph of a function with a zero whose multiplicity is even __________________ the x-axis at the zero.


A.  touches
B. misses
C. highlights
D. crosses

53.
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will have how many complex zeros?

A.   1

B.   2

C.   3

D.   4

E.   5

54.
A polynomial function with degree 3 has zeros -7, and 1 (multiplicity 2).  What are the factors of the function?  
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55.
Using the Rational Zeros Theorem, which of the following could not be a zero of
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A.  2

B.  3

C.  
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56.
Factor to solve:    
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Is 
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Complete the square:    
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59.
Graph by putting the equation in vertex form:  
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60.   Graph:    
[image: image74.wmf]2

3(4)5

yx

=-++


[image: image75.emf]-5 5 0

-5

5

0

x

y







[image: image76.emf]-5 5 0

-5

5

0

x

y


Calculators Allowed

61.
Describe the end behavior of f(x) using limits as 
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62.
Use the following graph of the function of g(x).

Write a function in factored form for g(x).


(There are many possible correct answers.)
63.
Find the equation for the given graph:


64.
Simplify:       
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65.
Simplify:      
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66.
Find all the zeros of 
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67.
Find all the zeros of
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 by factoring.  (Show the factors!!)

68.
Given 
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, find the remaining zeros.

69.
Write as a product of linear factors and irreducible quadratic factors with real coefficients:
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70.
Which of the following states the x-intercept(s) of the function 
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Which of the following states the y-intercept(s) of the function 
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Which of the following states the vertical asymptotes of the function 
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e.  None

73.
Which of the following states the horizontal asymptotes of the function 
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e.  None
74.
Which of the following states the slant asymptotes of the function 
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e.  None

75.
Which of the following represents an exponential function with an initial value of 5 and a growth rate of 17% a year?
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76.
Graph 
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77.
Solve for x:  
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Calculator Allowed
The number B of bacteria on a surface after t hours is given by 
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78.
What is the initial amount present?

79.
How many bacteria are present after 10 hours?

80.
Find the exponential Regression for the following data.

	x
	1
	2
	3
	4
	5

	y
	3
	8
	25
	74
	250


81.
Write an equation with asymptotes at 
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Find the asymptotes 
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83.
Graph 
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Vertical Asymptote(s):

Horizontal Asymptote(s):

Slant Asymptote(s):

x-intercept(s):

y-intercept(s):

84.
Solve the equation algebraically.  
[image: image123.wmf]2

317

52310

x

xxxx

+=

+-+-


85.
Solve for x using a method of your choice.  
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No Calculator
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A.   -8

B.   4

C.   8

D.   12

E.   None of these
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A.   -2
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D.   2
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D.   2
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A.   1

B.   9
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E.   None of these

90.   Solve 
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 for x.

A.   1

B.   10

C.   100
D.   1000
E.   None of these
Calculator Allowed
91.   Use the properties of logarithms to expand 
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. Express all exponents as coefficients.

92.   Use the properties of logarithms to write 
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logx+3logy

 as a single logarithm.

93.   Use the change of base formula to evaluate 
[image: image138.wmf]log, 15
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. Round to three decimal places.

94. Find the amount accumulated from an investment of $12,000 over 15 years at an interest rate of 5.5% compounded continuously.

95.   Use the properties of logarithms to expand 
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96.   Use the properties of logarithms to write 
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 as a single logarithm.

 Solve each equation. Round to two decimal places.
97.   
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100.   If Julio invests $1,000 with a 9% interest rate compounded quarterly, how long will it take until his investment has grown to $3,500 ?

101.   At what continuously compounded interest rate would Suzie need to invest her money if she hopes to double her investment in 8 years?
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